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@ 0. Scheme, Lisp (Common Lisp etc.), ML (SML, OCaml), Haskell
o U

o JOUOODLDOOODLDOODO
0000 (bO0oO0o0oo0oooooooooon)
000o0o0o0oo(ooooooooooooon)
goobooboooo
O0o0oU0oUoooOo0oOoUOoUoO0Oo (oooo)o

goao

ooooooooooooooooo

uboooooooo oo

D000 (0O0OOOOOOO0O0000000 gooooooo o000 ooooo oo 1/25 D000 (0OOOOOO0OOO0O0O00000O0 gooooooo o000 ooooo oo 2 /25

Ododoooodoooooonogl Ododooooooooouodood 2
00000000: 000 00000000: 000 0000000: 00
(for, while,...) afufuials 000000
int fib (int n) { int foo (int x) { let foo x =
int i, tmp; ooboooob.od int y; let y = x + goo(x+1) in
int x=1, y=1; ooo y = x + goo(x+1); let y = y + hoo(y*y) in
foi (ii2;.i<n; i++) { let rec fib n = y*= hoo (y*y) ; let y = goo(y+2) in
S if n<=2 then 1 y = gooly+2);
e else fib(n-1) + fib(n-2) s y
y += tmp; return y;
} }
return y; 0000000000000 0000000000000000000
} 0ooo0o
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ddddoooooououuoooo 3 ooboooooooooooon 4

gbooooboon

gbooood: let rec fib n =
mapO 0O 0O0O0O0 ooooooo if n<=1 then (1,1)
let foo a b 1st = let rec goo f n x = else .
List.map if n=0 then x }et (,y) = fib(n-1)
(fun x -> x*a+b) 1lst else f (goo f (n-1) x) in (y,x+y)
. . in fib 5
in in
foo 10 20 [1; 2; 3; 4; 5]  goo (fun x -> x + 10) 5 2 ==
[30; 40; 50; 60; 70] 52

(al,a2,..,an) 0O n0O0O (tuple, 0OO)0OOOOO
let (x,y) = el ine200el000 200 (0)000OODO 10000
OxOOOOO0O200000y00D00e200000000OO

D000 (0O0OOOOOOO0O0O000000 gooooooo o000 ooooo oo 5/25 D000 (0OOOOOO0OOO0O0O00000O0 gooooooo o000 ooooo oo 6 /25

000 (side effect) 00000000

ubooooobooooboog
gboooobgooboboobobooboobo

e 0 1:00000000DO (COODODO)
e 02200000000DOOODODOO (lO)

3p0ooooon

e 03 00000LO0OUDOUD(OULOO) e J0DUIUUODDDUUOUDDOUODUDDOOUOUODDO
e JU0UUUDDDDOUDLDUUUUUUUUOUUULLO e JUUUUOODDDODLODDLOUUUOUOLOUOLOUOUULLOOO
e bbb bUUOUOUOUOUOUULbLbObLbLbbooUon e HOOOOOOOOOOOOOOOOOOOOOOON

e J0DDOOUDODOOOD;UDO (effect) D0 DODOO

gooogoooooooooooogoooooooooog
of(el,e2)|:||:]e1|:| 200000000000 0OOO00d
0 eldel =el*2 0000
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DDD (fist-class)DO00000 (WOOOO) O000000O000000000000000000000

e U0 IOOOOODOOOOOOOOOOO ooooooo (DD Lisp,emacs—lisp)

o CODODODOODOM first-classl] o MeODDDDOOODMNeOODDOOODO

OCDDD JavaDDDDDDDDfirst—classDDDDD DDDDDDD (DDDDDDDDDD)

e JavaD0DOODDO(DOODDOOODDOOO)0DOOODOO e MeDDDDOODDOMNeODDOOODODOOMO
first-class[]

o COOUODODUODODOOOOODaccess link OO OOOOO
00000000000 first-classOd

D000 (0O0OOOOOOO0O0000000 gooooooo o000 ooooo oo 9 /25 D000 (0OOOOOO0OOO0O0O000O00O0 gooooooo o000 ooooo ao 10 / 25

ododooooooo-3

0d:

O0000CQO(CDOOOdfunction closure)

let x=1 in
e IO OOOOOUODOODOOUOOOOOODOOOOOOOOOO

let f=(f -> x+y) i
e un y=e Xy 1n 00000 (0)0D0000000000

let x=2 in
£ 3 e 00000IDOON0ODOONOONONOD(000O0OO)D000O
OD000: (funx->e, o). 00000000 (0ODOO0O00)OO
DODO000D0OO00 (booDoooo): O00000D00D0D0O00000 access link 0000
e 0000 f 300000000000 (funy—x+y)00D00O0 e 000DODNDODNDONNODONDONDONDODOOOODOONDOD
O000000000000000000 000
framed: y=3
frame3 x—2 O0: closure 0000000000000 fun x>x+y 0000 yO

uogboboodobtboooobbooobboooobooooboooa
0000000 (oo0o01l0o0000oooooooooUobo
closed term OO0 O 0O)

frame2: f=fun y->x+y
framel: x=1

global:

e OO frame4 0O OO accesslink OO0 O DOOOOframe3 0000
framel 00 0000D0DODOO
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gooogooboooon goobooooobooooood

let x=1 in

let f=(fun y-> x+y) in I
let x=2 in let foo x =
£ 3 fun y-> x+y
in
0000000000 (00000000): ~ foo 10
o 0 (funy— x+y) 0000000000 (funy— x+y, x=1 0000 “;20
ooooon)
e (£ 3)0ID0DO0IONDDOOIONDODOODODOOUODOD
access link 0000 e J000DUODDOODCOOULUODOUIUODODDUUDDOUDD (OO
framed: y=3, access link O framel 0D)oooood
frame3: x=2, e J0U0DODDOUOUOUDUODOUULUODDOLOUU(DOOOUD
frame2: f=(fun y->x+y, framel00000) 00000000o00oO0ooU0oooooooooooon)
framel: x=1 e JODOOODDOOUOODDDODOOODO
global:
0000 (DOoDOoOO0OO0ODoDOOoOoOoooDOo oooooooo 0000 O0ooo oo 13 /25 0000 (COoDoOOoOO0ODoOOoOoOoooOo oooooooo 0000 O0ooo oo 14

N
(3]

cOOooOOoonooo gooooooao
cooooo
00.CO0000MODNON00000000000000000000 int* mk_pair (int x, int y) {
00000000000000000CO000000000? int *p;
e No. C0OOODMOONDNONOOOONONOND(DO0)00O0O0 p=(int*)malloc(sizeof (int)*2);
*p=x; OCamIDDDDD
e 000D000D0D0O0O0DO0ONDOOON(0OO00O0DN)000 o) = v
oooooo P .y’ let q = (10,20) in
return p;
let fun f x = (fun y -> x + y) }
e (00)000000D0O0DD0DODONONDOONDNONDNOOOODO -
(000D0000)000000000 q = mk_pair (10, 20);
free(q);
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gooogad goooogoaad

cooooooono
e JJ0DOD(DUDDOOUOSstructdOO)O
e OO ODODOODODOODODO

obbbbbUooooobbOUd 00000000000000000(00)0000000000000
OCaml0ODOOOOO 0000000000000000 (000000000000000)

e 000000 DODONONONONO (DDDOOODDDODOODODOOOO0 oooa
0000o00000)

e OO ODLOODOODOO
e OO ODODDOODOODO

O COOO000DOO0OO0U0DOooOouooooOouooDoOooCamiOnO
00000000 (0o0o0)ooooooooo
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DI

let 1imit=10000000 in
let rec f x =
if x=1imit then "ok"

else let _ = (x,x+1) in f (x+1)
in £ 0 e 0000 heap 0000000000 D0O0DN0ONOO0O0O0DOD
O0000000stack DOO0O0OO stack frame 000000000
O0000000 OCaml D000 00 Doverflow 0000000000 00 100000000000 stack overflow 0000000
00:000 (x,x+1)0heap0 000000 e J00DO0DODONDODONDONOONOONOOO

gbobooobobooboboon

e J00DOOUUD (x,x+1)OOUDODOOOUDODODOO(UODODO
O0000000000)00000m@oo0oooooooUooo
gogno

e J000DUODDOOD_0OU0OLDODOUDDOUDDOUDD (OOLDO
O00ooOooooooo)o
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let rec f x =

if ... then ...
else f (x+1)
in £ O
x=2
x=1 x=1

000000000 stack overflow OO OO

D000 (0O0OOOOOOO0O0000000 gooooooo

gooogn

o000 ooooo oo 21 /25

e 00 fOODDODDOOND (ge) J00DDO0D(ge) 00000
000000 fOO0D0O0ODOO0OOOD0OO000OO0O0OO0O0O0000
(tailcal) DO OO

e J000DIDmMODDDOOODOfOOOOODODOODDOOOf(O
000000)0000 stack frame D00 00000000 (while
O00oooooo)

gooooooon:

let rec f x = if x=0 then 1 else x * f (x-1)

let rec f x = if x=0 then 0 else f (x-1) + 0
gogooon:

let rec £ x = if x=0 then 1 else f x

let rec f x y = if x=0 then y else f (x-1) (xxy)

D000 (DOOOOOOOO0O0O000O0O0O oooooooo 0000 ooooo oo 23 /25
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let rec f x =

if ... then ...
else f (x+1)
in £ 0

D000 (0OOOOOO0OOO0O0O00000O0 gooooooo

goobogooobogad

o000 ooooo ao 22 /25

e COUOODODDOOUIODODODOOUDOOOUOUODOODOmMObOOOO
ugbooobooboooobo

e JODUUOODLDDOUOUODODLDLOUOUOUODDLDUOUUObDDbDOOODLO
0000 (stack O stack frame 000000000000 OODO)

e JJ0D0ODUUDDOODULODDOUUODO(DUDDOODULDDODOO
O0000000000ooO0) o000 ooooooooo
ubobooobobooboooobobo

e DO ODOODLOODLDODLDOODLODLOODLDODLDOODOO
(Scheme, SML/NJ, OCaml .. I0O0 00 COOOOOOOOOOOO
O00ooOooooo)
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